2
Flhd (n. of _)[/X)___}/Y«Zx XZ 0

Sx~] X>0
AX - xe
it 5 okt
(x) = o
P oA x=0 lecaun b (0)=-2
ht {' (o)=S.

C)V\\l} en. ts X=0



Find IP(n[ama\ o H41= 3 dx on (0,17).

) I AP O
{WQ)f-Jédos&x
"I ¥xe (o) -t
{'il=0= y< T wx= =

‘C‘ o < L2 a}(%‘ O\ hacowyc
01 <0 (0,2 Yawe §6o o (F 22)
%)= o. )
€ Wos @Ma} (%_?.‘b Viae eues X (X\>0 0"(%,%{\

omd {"lx) <0 ow @'{r,“\



éll}-(,lﬂ ’I’hm“‘ ‘(/Y ))( +£L has ’paf')( ' 'Clﬂé(h

We ko §"(-1)=0.

47k
(). dezk

£00) - dx’idk
)(3

' (- = & -2k
5 Ai -2k =0

To-2




G)W{V\. £\ < )(-)-2/':6 ow [;% fwd ¢
td satistics He comed. Ay the /V\UI
€/J)'= %X + by
£ (s)-4(-2)

Sy
2;)(14-(1)( —2p —= x-‘-__q,l\S AX=C.21S

-42s & (25) s c=2us

2xN4lx =



Fund 1P (€ amg) of £/ fn (145,

: a X
Q(X\‘- \+
" - x>
( /}f]:. Q-}x‘)l
£" 3 Yx

e O

§ s 10 & (), 0 Deca §7(x) 20 on (oo
comd £ ()50 om (=1,1) awd (0= WD
Q \f\OS 10 & (llb\l\ dec o 'R‘.(V\)OCM(-I‘\\
ol £ () <0 om (1 ) cne $ ()= Qua.



'Flm( M(&j,l‘p{) £04) = )(():J-%L

£75) %"———Q:L
©Y '3 (-0 [5,)
; {/.Xl-o—? J(""\r_;i'u\_x:%

. 2y -ax

(x| =
1 - B i
3 %

Q \(\aSa /UQ W\\V\o'("_i X~ "-W‘cufuq
( \ 4—50——5"\: I'SCU

e s QMVV\Q)&o"‘ l[).ecua\
(‘ﬁ' -_.4-<O—-=IQ \SC')




wmin: ¢ €e
dmat: ¢ €4
‘E‘f : (a,c')u(¢,})

L+ Lone)u(e)

AN
I %

%l? hdad R
U NN E R
F e (ha)uls,=)







